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SECTION - A (MAT)

Find the next number in the series 3, 9, 10, 30, 31,

(A) 93

(B) 96
(C) 929 (D) 67
AlU, CKW, , GOA
(A) EMY (B) ENY
(C) EKY (D) EGS
Gum : Stick : : Needle:
(A) Cloth (B) Prick
(C) Tailor (D) Stitch

Directions (Q. 4): In the question below, two pairs of

numbers are given but one number in the second
pair is missing. | dentify the relationship between
thetwo numbersin thefirst pair and find the miss-
ing number in the second pair such that the num-
bersin the second pair also follow the same rela-
tionship.

25:5::36:

(A) 30 (B) 25

(©) 20 (D) 6

Find the odd one among the following.
(A) 17 (B) 27

(© 37 (D) 47

In a certain code language, if the word “CRE-
ATIVE” is coded as TIVECREA, then how is the
word “ACTION” coded in that language ?

10.

11.

(A) NOCIAT (B) NOIACT
(C) NOAICT (D) IONACT

If “CARE” = 16 and “RESPECT” = 49, then what
is the value of “NERVOUS” ?

(A) 68 (B) 49
(C) 40 (D) 64

In the following sequence, how many 7°s are there
which are immediately preceded by 5 and immedi-
ately followed by 4 ?

1573475748574321771579174
(A)2 (B) 4
©)3 (D)1

Find the number which should comein place of the
question mark (?).

7148
16 [ 10 2
23 | 14| 26
(A) 26 (B) 18
(C) 34 (D) 42

A person travels 12 km towards the east and then
travels 5 km towards the left. How far and in what
directionishefromtheoriginal point ?

(A) 17 km, North-east ~ (B) 13 km, North-east
(C) 17 km, South-west (D) 17 km, South-east
How is my Father’s sister’s son’s sister related to
me ?

(A) Niece (B) Sister

(D) Cousin




Directions (Q. 12-13): These questions are based on

12.

13.

the following diagram. Study the diagram and
itsinformation given below it. Choose the correct
alternative given below each question and mark
the number of that choice as your answer.

Circle | represents the people who eat Vanillaice
cream.

Circle Il represents the people who eat Tuti-Fruity
ice cream.

Circle ll1 represents the people who eat Butter
Scotch ice cream.

Circle IV represents the people who eat cornetto
ice cream.

Which of the following represents the people who
eat Vanillaice cream as well as Tuti-Fruity but not
any other ice cream ?

(AT (B)P
©Q (D) Pand Q

Which of the following represents the people who
eat all the four ice cream ?

(A) A B)Vv
(C) B (D) Z

Directions (Q. 14): In the following question, there

14.

are two sets of figures. The figureson the left are
problem figures. (four figures and one question
marked space) and those on right are answer
figures indicated by numbers (A), (B), (C), (D).
A series is established if one of the four answer
figures is placed at the “question marked space”.
The number of the answer figure which should
be placed in the question-marked space is the
answer.

Problem figures

T T
i_&! Ll ? 1= iij

Answer figures

(A) (B) (©) ()

SESESE

Directions (Q. 15):This question is designed to check

the students ability of identifying different fig-
ures and quadrants in a figure. In these ques-
tions a problem figure is given out of which a
portion or a quadrant ismissing, followed by four
Answer figuress (A), (B), (C), (D). The student
has to complete that missing portion by selecting
from the four Answer figures.




15. Problem figure
gl

i

S —

.
o
o

Answer figures
N\

NN

(A) (B) © (D)

Directions (Q. 16): Count the number of triangles in
the given figure.

Ea

16.

(A) 6 (B) 8
(C) 10 (D) 4

Directions (Q 17) : In of the following question,
choose the correct mirror-image of the Figure.
(X) from amongst the four alternatives (A), (B),
(C) and (D) given along with it.

| A A Y

(X1 (R ] [1)]
Directions (Q. 18): In each of the following questions,
figure (X) is embedded in any one of the four
alternative figures (A), (B), (C) or (D). Find the
alternative which contains figure (X) as its part.

A ZONDRA
o0 (GBI
x (A) (B) © D)

19. Which of thefollowing wordswill come second in
the Englishdictionary ?
(A) Magica (B) Magnify
(C) Maternal (D) Magnetic

20. If L stands for +, M stands for —, N stands for x, P
standsfor =, then
14N10L42P2M8="
(A) 153
(C) 248

(B) 216
(D) 251




SECTION - B (SAT)

21.

22.

23.

_ |1 and __Il___are the biotic components of
an aquatic habitat. The information in which
aternative completes the given statement?

I I
(A) Frog
(B) Water
© Light lotus
(D) Lotus frog

Which of thefollowing food items consumed by the
people of Andhra Pradesh is a vegetable item?

(A) Rice (B) Rasam
(C) Kundru (D) Buttermilk

In which of the following cases, will there be
repulsion in between the given magnets?

~C

e N

water
light

24,

25.

26.

__|____havebranchesarising from their base, while
__IlI___havebranchesarising fromtheir upper parts,
several metres above the ground. The information

in which alternative compl etesthe given statement?
| I

(A) Herbs shrubs
(B) Shrubs trees
© Trees climbers
(D) Climbers herbs

Which of thefollowing statements about earthworms
is correct?

(A) They move with the help of a muscular foot.

(B) They move with the help of muscles attached
to their bones.

(C) They move with the help of musclesthat help
to extend and shorten their bodies.

(D) They move with the help of musclesthat help
infolding their bodiesinto several 1oops.

The given figure shows the labelled diagram of a

simple torch. The part of the given torch that is

labelled =12 Fn |

(A) cell
(C) dide switch

(B) reflector
(D) metallic casing




27.

28.

29.

30.

31.

32.

Which term is used to describe the given physical
change?

lce — " 5 Water
(A) Boiling (B) Mélting
(C) Freezing (D) Condensing
Cottonfibreisobtained fromthe__|___of thecotton
plant, whilejutefibreisobtained fromthe__II___of
the jute plant. Theinformation in which alternative
completes the given statement?

(A) fruit stem
(B) stem fruit
© flower stem
(D) stem flower

Desertsare very hot throughout the day and receive
very less rainfall annually. Which of the following
adaptations will ensure the survival of a plant in
deserts?

(A) Waxy coating on leaves

(B) Thick broad leaves

(C) Drooping branches

(D) Flexible stem

Which of the following animals feeds on grass?
(A) Cat (B) Dog

(C) Eagle (D) Rabbit

Vitamin D works along with calcium to prevent the
thinning of bones. Vitamin D can be obtained from
(A) wheat germ (B) potatoes

(C) eggyolk (D) tomatoes

If light was shone sideways on the abject shown
below, then its shadow would be formed as

33.

(A)

®)

©

)

Front Side

(A) (B)

(®) (D)

Which table correctly matches the parts of a plant
with itsrespective function?

Plant Part Function Plant Part Function
Root Preparation of food
Stem Anchoring the plant
Lesf Absorption

of nutrients
Flower Sexual reproduction
Root Sexual reproduction
Stem Preparation of food
Leaf Anchoring the plant
Hower Absorption

of nutrients
Root Absorption

of nutrients
Stem Anchoring the plant
Lesf Preparation of food
Flower Sexual reproduction
Root Sexual reproduction
Sem Preparation of food

Leaf Absorption of nutrients
Anchoring the plant




34.

35.

36.

37.

38.

39.

The flow of water from Earth’s surface into water
bodiesis known as

(A) run-off (B) transpiration

(C) evaporation (D) precipitation
Which of thefollowing methodsis used to separate
salt from sea water?

(A) Sieving (B) Filtration

(C) Winnowing (D) Evaporation

The muscular system helps the body in movement.
In conducting the movements of the body, the
muscular system is supported by the

(A) skeletal system (B) digestive system
(C) excretory system (D) circulatory system

Which of thefollowing materialsisagood conductor
of electricity?

(A) Plastic (B) Cork
(C) Sail (D) Iron
Themoation of thetiresof abicycleis__|I___, while

the bicycle’s motion is__|

. The given statement

is correctly completed by row
I I

(A) linear circular
(B) circular linear
© linear wavelike
(D) wavelike  linear

The given table lists the effect of change in
temperature on the physical state of aliquid.

Temperature Physical change
Increase Liquidwill -1
Decrease Liquidwill -1

40.

41.

42.

43.

Which row correctly compl etes the given table?
I I

(A) Bail Freeze

(B) Freeze Sublime

(© Sublime Bail

(D) Freeze Sublime

Which of thefollowing materialsis opaque?
(A) Air (B) Wood

(C) Water (D) Glass

Plants also consume oxygen for respiration similar
to animals. It is said that trees should not be cut
down in order to maintain the balance of oxygenin
the atmosphere because

(A) animals take more oxygen than plants

(B) plantsrelease more oxygen than what they take

(C) animals release more oxygen than what they
take

(D) plants recharge the soil with oxygen dissolved
insoil
The type of motion described by the girl swinging
ontheswingis
(A) linear (B) circular
(C) periodic (D) random
A girl had three burgers. She ate two burgers and
then divided thelast burger into four equal partsand
ate three of those parts.How many burgers did she
eat?

11
®) 5

3 7 9
(A) 2 (B) 2 © 2




44,

45,

46.

47.

What is the decimal representation of the fraction

17>

40
(A) 1.025 (B) 1.075
(C) 1125 (D) 1.175

Rahul scored 96 marks out of 100 marks in a
Mathematicstest and 79 marks out of 100 marksin
a Science test. What is the ratio of total marks
obtained by Rahul in both the subjects to that of
maximum marks?

(A)7:8 (B) 9:10
(C) 17:20 (D) 33:40

What is the successor of the greatest negative
integer?

48.

49.

50.

The number of shirts with A isfour more than half
the number of shirtswith B. If A has s shirts, then
which of the following expressions gives number
of shirtswith B?

(A)g2+4 (B) 2(s4)
(©) 4(s2) (D) &/2-4
For a rectangle with integral lengths of sides and

196 m? area, the minimum perimeter is obtained by
taking the length of the rectangle as

(A)4m (B) 7m

(©)14m (D) 28 m

Thegiven figure showsarectangle ABCD such that
AEFG has been cut out of the rectangle. The

perimeter of the remaining portion of the rectangle
is

(A) -1 (B)0
©1 (D) 2 D G C
The area of a playground is 300 m2. The length of T_
the playground is 2,000 cm. The width of the 10 cm llem | 5
playgroundis I
(A).15m (B)15m A [-_'4—’:}4 am—>F B
(C) .15 cm (D) 15 cm o
(A) 52 cm (B) 75 cm
(C) 85cm (D) 79 cm
ANSWER KEY
SECTION - A (MAT)
1 (A) 2. A) 3 D) A (D) 5. (B) 6. (D)
7. (B) 8. A) 9. (B 10. (B 11. o) 122 A
13. (©) 14. (D) 15 A  16. (A 17. < 18 A
19. (D) 20. (A)
SECTION - B/ (SAT)
2. (©) 2. () 23 < 24. (B 25. ) 26 (B
27. (B) 28. (A) 29 A) 30. (D) 31. © 32. (B
33. (O 4. (A) 35 D) 36. (A 37. (D) 38. (B
39. (A 4. (B) 41. B 42. (C) 43 D) 4. (D)
45.  (A) 46. (B) 47. (B) 48. (B 49, (©) 50. (D)




